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Some physical constants are given in List 1 and their dimensional formulae are
given in List 2. Match the correct pairs in the lists :

PHY 5ICS5

List 1 List 2
{a} Planck’s constant (e) [ML-IT%
() Gravitational constant @ IML1T)
(¢} Bulk modulus (g [ML2T)
(d) Coefficient of viscosity (h) IM-IL3T2)

eeDar-1 6% 570y F°8Y Horowe, eeler-2 6° aod 8 FUyorer awdredsd.
Toth erBeroda OGBS moved ssSEIcb:

Do~ 1 gelae 2

(@ &o% NHorofsn () [ML™T2

(b) Levegfom Horoys ¢ (ML-ITY

(€) Swe Moy @ [ML2T)

d) e hess (h) (MIL3T2

(1) a-h; b-g; c-f, d-e (2) a-f; b-e; c-g; d-h

(3) a-g; b-f, c—e; d-h - w a-g; b-h; c-e; d-f
82. Of the vectors given below, the parallel vectors are,

;\. =Bi+8)

B =210i + 2804k
C=5.1i+6.8]
D=23.6i +8)+48k

=4 - —
{1 A and B Jﬁtanda
3 Aand D 4) C and D
1808 ondwds H8¥eE® Surody So¥en:
Kzﬁfi-'ﬁj'

B=210i +280k

§=5.15+ﬁ.aj'

D=3.6i+8j+48k

(1) A &bcs B A S8 C
(3) A 8ot D 4) C H0c D
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A body of mass 2 kg is projected from the ground with a velocity 20 ms™! at an
angle 30° with the vertical. If ¢, is the time in seconds at which the body is projected
and {, is the time in seconds at which it reaches the ground, the change in momentum
in kg ms™ during the time (t5—t,) is :

2 kg (B8goed Ho of SHap ol o8 20 msT! IKanE®, f8s cowsniB
30° FPesns® |SfSsr Jbedss. s SHhg SiSsw Satedd Shabsn t
¥, SO D8A grdl J0N HSabsn t) DYl wond, (fy—t)) SHahos®
|ESg3rsne® Hmayy (kg ms~! o6%) :

(1) 40 v 4043

(3 5043 (4) 60

A particle is moving in a circle of radius ‘v’ with a constant speed ‘v’. The change

1
in velocity after the particle has travelled a distance equal to [3] of the

circumference of the circle is :
(1) Zero (2) 0.500 v
0.765 v 4) 0125 v
w8 Smdn T argrdan SORY Jyenmd SPof” LESA W & Eardied. 538
S646° 8 & Jo& Sredo EdredolIHd, © FndKed® Srdn :
(1) "edgo (2) 0.500 v
0.765 v (4) 0125 v

A body is projected vertically upwards with a velocity ‘u’. It crosses a point in
its journey at a height ‘h’ twice, just after 1 and 7 seconds. The value of u in
ms~! is : (g=10 ms?)

o S W I6w8® Devshrr 8 HEEse SNwdEs. o), Edradnd®
08 N IHE® Ko wf DofpHd, X8 1 Dbak T REHe SLrs, ToMHNn
856, u Dend ms~! et ; (g=10 ms~2)

M 50 w40

(3) 30 (4) 20
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Four particles, each of mass 1 kg are placed at the corners of a square OABC
of side 1 m. ‘0’ is at the origin of the coordinate system. OA and OC are aligned
along positive X-axis and positive Y-axis respectively. The position vector of the
centre of mass is (in ‘m’) :

e85, 8, 1 kg |5830°8 Ko aresth Swres, 1 s heds S QABC ©d
SEOE dwrow :ﬁ%’ aodeddd. &Sy dgdt‘g serelodd n'ﬁ'g 'O a8,
OA $8af OC & SHS® &35 X-vfsn Hoan &35 Y-ofss Jowd a4
B8goe? Bosp & SO (Ssebes®) :

W i+) o (i)

@ (i-J) (4) %(f‘j)'

ar7.

In two separate collisions, the coefficients of restitutions ‘e, and ‘ey’ are in the
ratio 3 : 1. In the first collision the relative velocity of approach is twice the relative
velh{:'itj.r of separation. Then the ratio between the relative veloeity of approach
and relative velocity of separation in the second collision is :

Godh Jqeth sfIrdsned” EegdSd hoidve ‘e Hlak e’ v T
3: 1 368 oDIrssnE® obHH a-*:.g S8Sw, DEHS >1Y S5
Tofoden wondS®, Todd whIrdsnE® whNdHS ST > DY desve NI ¢
1) 1:6 (2) 2:3

3) 3:2 w61

88,

A block of wood resting on an inclined plane of angle 30°, just starts moving down.
If the coefficient of friction is 0.2, its velocity (in ms™!) after 5 seconds is :
(g =10 ms™?)

30° oy Ko of averdednd FJE\L&" ad) Frabg oy Sosk eede
(FEoDoDT8. lm sy 0.2 vondS 5 DEHe SHard o0 FSw
(ms~! ©6%) : (=10 ms™)

(1) 1275 W 1635

(3) 18.25 (4) 20
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The kinetic energy of a body rotating at 300 revolutions per minute is 62.8 J.
Its angular momentum (in kg m?s7) is approximately :

Dandsnss 300 Phosve Dok S&H @08y $8= ¥8 628 J. o=d cdad
ESg Jesw (kgm?s™ oF®) Sardoe

(n 1 (2) 2

S 4 4) 8

A uniform circular disc of radius R lies in the X-Y plane with its centre coinciding
with the origin of the coordinate system. Its moment of inertia about an axis, lying
in the X-Y plane, parallel to the X-axis and passing through a point on the
Y-axis at a distance y = = 2R is I,. Its moment of inertia about an axis lying in
a plane perpendicular to X-Y plane passing through a point on the X-axis at a
distance x =d is [,. If I, =1,, the value of ‘d’ is :

R srgirgan o o8 0888 Syemwd INS» ood Jowsn RSy SIS
ss..:w ﬂu.::a.ms‘ adgdoogescr X-Y Sosné® asy8. XY amﬁus?
X- wfsusth Sdmosssur Y-ofse & ¥ =2R Dothdl areve EHidf wFss
SPorr @l wddy |grdisn I XY dodndh vowsor X-sfds &N x=d

Dotsh qraoe DUHuhd) efSe Sfome ool edsg Lqm-a;:san Ip. I; =1, monss®,
‘d Deads :

1 Y9 (2) ATg
2 9
J—J;‘_ER (4) %R

21.

. How many times more, the mass of the original star is to be larger than that
. of the sun for the formation of ‘Black Hole’ ?

. B8 dogsn doydek, e 55@ ESgoe8 Bethgh | SIgoed G Ay

Bm GodST?
[1} 2 (2) 6
3) 8 o 10
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The simple harmonic motion of a particle is represented by the equation

x =4ms[33f+g]. The frequency (in Hz) and the initial displacement (in m) of

the particle are :

k1
el Sodn duiy SOV Soed¥ Sodsnd x=4ms[33t+ﬂ of Sdsvmsn
HrloNdds. 8 Sman Gwi) PHHIzEs (Hz o) Hdak 80 o odss
(m 6% & Deoden SHdee :
A 14; 22 2) 16; 242 .
(3) 14; 3.2 (4) 16; 3.2

93,

A mass of 6.5 kg is hanging from the end of a 60 cm long steel wire (Y =2 x 10!
Pa) with area of cross-section 0.05 em?. When it is revolving in a vertical circle
it has an angular velocity of 2 revolutions per second, at the bottom of the circle.
Approximate elongation of the wire (in meters) when the mass is at its lowest
peint of the trajectory is : p

60 cm &), 0.05 cm? SHFadhg Jeeoge ¥OAS AT Do 84
(Y=2x10"! Pa) o8 6.5 kg 55203 Jorckod. ©b devh Sy808° (fde
voworr aod Awd Sv Jydod”) EoFisodhdHd, a&pEs Bo&spy &8
2E%% Dok SoFHesne: So 5°dah Jdsn 50 a8 © (ESzod &3
SFSE® DS Dok I8 e s SHED Frhde D (Beged®)
(1) 8x1074 o 4x10™

(3 8x107° 4) 4x107°

34,

A wire of length I' metres, made of a material of specific gravity 8 is floating
horizontally on the surface of water. If it is not wet by water, the maximum diameter
of the wire (in millimetres) upto which it can continue to float is (surface tension
of water is T = 70x 10~ Nm™) :

295 doE 8 FOAS o8t Vaveds T e FEH fdo of 8 2
Sodu NE §8e sSrossshm dwdr acs d0 T S4SIB €8 Fod
HO0& argdo SO% Swdr sowod s 08 srgle Jesd (mm o&*) -
(88 Sos3g8 T =T70x10° Nm™) :

1.5 (2) 1.1
(3) 0.75 (4) 0.55



A AM 2006 A

The speeds of air-flow on the upper and lower surfaces of a wing of an aeroplane
are vy and vy respectively. If A is the cross-sectional area of the wing and ‘p
the density of air, then the upward hift is :

e RERSD 35&, afod Sbcin A ému"ﬁ:_ i (S S8 S&Eoe
vy 0 vy, © VY ©HES Jevvgo A Doy ™8 oEs p’ wowdS?,
m%ﬁﬂnm as:aiﬁ'&"m:

1 1
(1) EPA{"’]"”E} (2) Em‘n{ﬁﬂ’e]

A Loai-d) @ Load o)

o At a certain temperature, radius of an air bubble is doubled when it comes to
th.a top from the bottom of a mercury column of height ‘A", If the pressure at the
tup is two atmospheres, the value of ‘A" in metres is :
L aRENE S8 K ody ) FE0E Sords edt S0l of o wan
Y STHBOS D epn TLoH wonds. TEEE Foddn Derord, LTS
Todh recrdipsnes soud ‘A Jed n'.ba;gu{;'ﬁ :
(1) 55 <+ 1064
(3): 1245 (4) 15.00

57

. The temperature of a gas contained in a closed vessel increases by 2°C when the

pressure is increased by 2%. The initial temperature of the gas is :

o8 Sl TEED oo LaIsn 2% TolSH, aRFHE. 2°C 8h0B,
6 coud dwdy &0 s :

(1) 200 K «” 100 K

(3) 200°C (4) 100°C



i‘j AM 2006 A

An ideal gas after going through a series of four thermodynamic states in order,
reaches the initial state again (cyelic process). The amounts of heat (Q) and work
(W) involved in these states are,

Q, = 6000 J; Qy=-5500 J; Qq=-3000 J; Q=3500 J

W, =2500 J; Wy =-1000 J; W4 =-1200 J; W =xJoules °*

The ratio of net work done by the gas to the total heat absorbed by the gas is
n. The value of x and n are nearly :

of 986 PN wf SHIFHET Toh o K88 L& opge Dow
on aherh8l oo J8S8 (Sfos E8ak). %o wodpH JowoBold aids
(Q) SHoasx IR (W) Jenden oxor aT=yow

Q, =6000 J; Q, =-5500 J; Qg =-3000 J; Q;=3500 J

W, =2500 J; Wy=-1000 J; Wy =-1200 J; Wy =x Fesex

araind IHS EDS BD, SR §'holy Ango adswe VI n. owipds
x sabain n ‘& Denden : ;

(1) 500; 7.5 4 700; 105

(3) 1000; 21 (4) 1500; 15

‘m’ grams of a gas of molecular weight M is flowing in an isolated tube with velocity
V. If the gas flow is suddenly stopped the rise in its temperature is : (y=ratio
of specific heats; R = universal gas constant; J = mechanical equivalent of heat)
‘m' | Bdgoe? M smgrdss feAdemded v STolued) &8 QIE Fade oo
V 3r08® @atrodihdnd. srang @ordrdng efdy¥orr shilwond, ool
aﬂ:ﬁae‘ DEHHS (Ferande QIR LS S8 ; R-roy 8y sra Borogan)
J=as oroB8Y Swwrgosdn) ¢

z Viy -1
ann 1) o B U-H
M 2RJ
mv? MV
(3) ! — 1

2RJ 4 SRg
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A bullet of mass 10 x 10~ kg moving with a speed of 20 ms~! Hits an ice block
(0°C) of 990 g kept at rest on a frictionless floor and gets embedded in it. [f ice
takes 50% of K.E. lost by the system, the amount of ice melted (in grams)
approximately is : {J = 4.2 J/cal) (Latent heat of ice = 80 cal/g)

10x 1073 kg |S&go~8 500 20 ms! ¢ JEE* IOMY oF bod, wIm BT
EaE ?:_‘;cfun- oy 990 g |SS3o% He Sio S 4572 sosét S5
Ponse. o Jyas Sadfond #8z ¥IL° 50% Mot HAroDY MHE Mok,
rEned®, SSms, (J =42 Jlieal) ; (Sod MREEESn =80 cal/g) :

(1) 6 (2) 3

(3) 6x 1072 w7 3x107?

101.

The frequency of a tuning fork is 256 Hz. The velocity of sound in air is
344 'ms !, The distance travelled (in metres) by the sound during the time in which
the tuning fork completes 32 vibrations is :

LI H0 doddn sy E‘;:;:a:_;.:au,lﬁﬁ Hz. =&&* S e Jesn 344 ms L.
%0 Sodsw 32 Fosdswes rfdos wednd® ¢l (Sarosy IS Sedss

(we8es®) :
(1 21 aﬁ' 43
(3) 86 (4) 129

102.

A uniform string of length 1.5 m has two successive harmonics of frequencies

70 Hz and 84 Hz. The speed of the wave in the string (in ms™) is :
1.5 m &8s #de oy S383 &5 Sl Cod: JWS Ei‘u'ééavu jﬁ":ﬁ:ﬁ;};ﬁ' =
70 Hz &:08ckw 84 Hz. s 8456° Soofi Srds (ms! o6%) :

(1) 84 4 12

(3) 21 (4) 10.5
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The effective focal length of the lens combination shown in the figure is —60 em.
The radii of curvature of the curved surfaces of the plano-convex lenses are
12 em each and refractive index of the material of the lens is 1.5. The refractive
index of the liquid is : .
808 Srhs Swof® ey Sod@mio Qg S argrgodlo — 60 cm. Sdda
Bogrmd Soiy JSf¥dvdve SFee @g&‘f:ﬁm 8%, 5€ 12 cm, Se¥sp r:-éwg
Sfgss mmisn 15 @S andy JS8ST Hossn

Liguid
p=15
(1) 1.33 (2) 142
(3) 1.53 o 160

104.

. In Ramsden’'s eye piece, the two plano-convex lenses each of focal length f, are
separated by a distance 12 cm. The equivalent focal length (in cm) of the eye
lens :
eSN3S ©fsessnd® [ orergesdo fo Todk SMde Hogred Fu¥sves 12
em Srdod® E&Sao’awd Mo, m&!ma‘:ﬁu gingy DS JrgEgodddn
(cm ©&®) :

(1) '10.5 (2) 12

O 135 4) 155
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A light ray is travelling between two media as given belpw. The angle of incidence
on the boundary in all the cases is 30°. Identify the correct sequénce of increasing
order of angles of refraction,

{a) Air to water

{b) Water to glass

(¢} Glass to water

3 4
(Refractive indices of glass and water are respectively 2 and '-3'}

ed o8 Jimdn Tod drdfswe &H&y Jod IpsS fduee (EdEress
o 8. oR) drsiaedtsh S0 S5 285 o 30° Sfrss Fedves
Tmdrhdd) Febahudy B o,

(@ & o8 NAEDS

(b) N8 &0l orerEtDS

(@) reer ol S46°08

4
(rer S0 I8 Gw)y Sless Hefo SHSm % SaBass E}

A a, b, c (2) b, e, a

{.3} c, i, ﬁ ':4-} a, c, b

Two coherent monochromatic light sources are located at two vertices of an
equilateral triangle. If the intensity due to each of the sources independently is
1 Wm~2 at the third vertex. The resultant intensity due to both the sources at
that point (i.e., at the third vertex) is (in Wm™) :

(1) Zero 2) V2

(3) 2 o 4

Tod: 5555 .‘«'Soe.:c‘:' Fodedorer of Sdodw (Gdbady Guf) ﬁn’;i.,z: S8
B0SBBSD. 2,5“3,.55. wod el¥Sn Jod Swrds an S5 20NES 0B élaa
1 Wm2. soxnd Tod: adece Jed ﬁ,.:v::‘g:f ﬁa’add b S8
(Wm™2 o&*): _

1 & (2) V2

(3) 2 o 4
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The magnetic induction at a distance ‘d’ from the magnetié: pole of unknown strength
‘m'is B. If an ident:ical pole is now placed at a distance of 2d from the first pole,
the force between the two poles is : |

‘mghS $830 Ko of eSg8 ool HISn Hod'd ErEed® B sahdFp ol
l:ﬁndn iy 6. Sdedardad $67Y gydduh Sl Gy ol chﬁ:ﬂﬁloé'i
aond, & Toik GHdswe Ddy wodw :

mB
(1) mB R
ﬂf (4) 2mB

108.

. Two short bar magnets P and Q are arranged such that their centres are on the

X-axis and are separated by a large distance. The magnetic axes of P and Q are
along X and Y axes respectively. At a point R, midway between their centres,
if B is the magnitude of induction due to Q, the magnitude of total induction at
R due to the both magnets is :

P SH0okx Q of TJod 7€ wabdpodave: &6 BoFsne &Py Seosn
weo %86 aodem X-ofop obHudid PSdok Qe oobdyos vfsue
Sthire X-ofdy S0 Y-efsse Joed oadyd od JoWsne SHob Sy
Srdoé® e R g3 Dok &8, Q crpor Yeorh edbdped (Lne dod
B sond, & Toh eddjodsue ogor R I8 08 Swgo wabimos (wdw
H08rmsy omd

(1) 3B - o 5B

(3) iﬂg_g (4) B
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e The electrical potential on the surface of a sphere of radius v’ due to a charge

3x108C is 500 V. ‘The intensity of electric field on the surface of the sphere

1 -,
& la; =9x%10° Nm?C 2] (in NC1) :

M <10 (2 >20

(3) Between 10 and 20 (4) <5

r mglﬁvgdnﬁa &% s a?:m‘&. &55&'&:n"§:_ 3x10%C sdvrsn Sog
500 V o ad&gé ﬁ"b%aﬁuf a6, %o abdcod AMgs F& U8,

[ —=9x10° Nm?C? | (NG 06%) :

dne,
J <10 (2) >20
(3} 10 s0ai» 20 © Sl (4) <5

Lai Two unit negative charges are placed on a straight line. A positive charge ‘g’ is

placed exactly at the mid-point between these unit charges. If the system of three

charges is in equilibrium the value of ‘g’ (in C) is :

Toh |Bdre owe edew wf I0V0PT @odnlld. ¢ o of &5 ededy
ﬁﬂn: aed 5.1:,536"’ aosndss u Sord sdere ﬁsﬁ.‘ﬁ T %ﬁé" &@ﬁmﬁ.
¢ desd (Srermobud®) :

(1) 10 (2) 0.75

(3) 05 o 025
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Consider the following statements A and B and identify the correct answer :
‘A’ : Thermistors can have only negative temperature coefficients of resistances.
‘B’ : Thermistors with negative temperature coefficients of resistance are used

as resistance thermometers, to measure low temperatures of the order of
10 K.

(1) Both A and B are true

(2) Both A and B are false

(3) A is true, but B is false

2 A is false, but B is true
808 TS0mes A Sbals B e 6900l S0E Sdrordded foRpdw !
A g0)ED weEr®E ol ier n6tgs B Eno% Sredah FOAdnodE.
B oonar s ¥ Ded $OAS @l Sier 260 thmidves fHe 5&3';5&;“:
10 K g5rd8 Sodd so au WGLEES 503 nNEcgy r;Su‘émwd:«unv

L aa’:ﬁrnﬂ@_-_ﬁa.

(1) (A) S:8c8w (B) God ey
(2) (A) Sobcfs (B) Sod: &
(3) (A) &y =2 (B) 8&yp
H Q) s5p w2 (B) ey

s A teacher asked a student to connect ‘N’ cells each of e.m.f. ‘¢’ in series to get

a total e.m.f. of Ne. While connecting, the student, by mistake, reversed the polarity

of ‘n’ cells. The total e. rni‘ of the resulting series combination is :

e84, ceRd Qo ‘e’ FOAS N Hedsed Snddw Suee Ne SSpdes,

PAE® Feol&d el ﬂava-goi.ada ed Jergll wBRoID, FEE® seny ._u@cﬁns*
Dargl W Ppesve §F we FSled Sy FHSE® 0B o Pedse

Fd Sogrdsn Guf)y IwEds dove Ied

(1) E(N-E) 2) e(N-n)
J eN-2n) (4) eN
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Consider the following two statements A and B dnd identify the correct
answer ©

‘A’ - Constantan-Copper thermocouple is generally used to measure tempera-
tures upto 1600°C.
‘B' : In an iron-copper thermocouple, current flows from iron to copper through

cold junction. 2
{1) Both A and B are true
{(2) Both A and B are false
(31 A is true but B is false
A is false but B is true
308 Todks DSSes A Dok B o $8%00C B8GLS SSrgrdaed: M0 osjdw:

A' :  SSouS-orh aX ey &gﬂﬁc&&m‘lﬁﬂﬂ“ﬂ SO fv ald|Nided
Fresthul &Samhothdd:. =
‘B gibdn-oeh adduids Jof, Jud Sod oo Degd mhdn Sod

=A8 (BSLrodh.
(1) A 00 B Sodk iy
(2) A Socn B Sods Sy
(3) Acdv =2 B gay
A Assy =2 Basy

114.

Assertion (A) : When a conducting wire loop which is inside a uniform
magnetic field directed perpendicular to its plane, is moving
with uniform velocity, an e.m.f. is induced in it.

Reason (R) . When the magnetic flux linked with a conducting wire loop
changes with time an e.m.f. is induced in the cable.

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(A) is false, but (R) is true
S (A) ¢ e FIEP 68 S (ord) 85 Sootl oow BYE° ad
2568 wati o8 JE05* S0B608° Ehedd Hpd, oD
(208 Trw AP EES.
wass (R) @ ef odrd 80 9e8® S8l o) odbiyod sbordeds
Tood® Srnbdr doh el (D08 Do AR GEes.

(1) (A) &6ae (R) Both say, &0a (R), (A) @)y S0GksS Q88m

(2) (A) Sobas (R) Dok ey 2 (R) o%io, (A) Gof), S65k8 288w w5

(@) (A) dy =2 (R) say

ﬂ (A) 85p =2 (R) ey
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A coil of 1200 turns and mean area of 500 cm? is held perpendicular to a uniform

magnetic field of induction 4 x 10~* T. The resistance of the coil is 20 ohms. When
the coil is rotated through 180" in the magnetic field in 0.1 seconds the average
electric current (in mA) induced is :

1200 en, 500 cm? SorEe Feegss fo of 84 D& 4x107°'T (Bw
fo 2588 waHi o8 Bgos*, '_;jus 8¥% vouwsuT doSwdIs. w 85 e
NEfESs 20 LSies. & B Sed e Fpo08 FESwET 0.1 ;..5:...&6'%
180° @30S ([H08 Soxb 2838 Lﬁ.auasum (mA o&®) :

(m 12 24 (3) 36 (4) 48

118.

A long horizontal rigidly supported wire carries a current i, = 96 A. Directly above
it and parallel to it at a distance, another wire of 0.144 N weight per metre
cnrr:.rmg a current iy = 24 A, in a direction opposite to that of i,. If the upper
wire is to float in air due to magnetic repulsion, then its dlstanct {ln mm) from
the lower wire is :

$y8 oS §8n SSroSISLe o of TEIS 86 avoei, =96 A D
Ldéu-aﬁ;:ﬁ::ﬁn_ﬁ A8 Bk 2 & peidnd ool .‘i;i.wné{f&.mv 08 ::‘.;‘ndéué."ﬁ

08 Dems 0144 N grdo Se $6°8 86 ocwooe iy=24 A 3538 i, &
asnaatr BY6* (SSTroMH & w08 LIk Sos 2 85 rBS® BB,

LE::-&. &85 Sof 88 acdlSuhd SmEds Ernm e..é-"}
(1) 96 (2) 4.8 w” 32 4) 16

T17.

In X-ray spectrum, transition of an electron from an outer shell to an inner shell
gives a characteristic X-ray spectral line. If we consider the spectral lines KB'
Lﬁ and M, then :
(1) Ky and Ly have a common inner shell
{2) I{ﬂ and Lﬁ have a common outer shell

Lﬁ and M, have a common outer shell
4) Ly and M, have a common inner shell
geavg 8x3 S0l 6558 sgaé*:.a Sogd S0l w0hZHE:, X-0oe SgEaEnd”
usegm X-80c SgS0 dp S dsob. SIsn Ky Ly dbas M, agm Tpos
MeeRond
(1) Kﬁ Sl ots LB dper 3 aana Eod o)) SE S §Bﬁmuﬁ,m
(2) K ssbake Lﬁ dper o3 ':i-:‘»i..éfi graey Fgoch SDAowodl
T Ly hoae M, Soes od asyd iy Spes S8R Aok
(4) Lﬂ S:80% Mﬂl dpen w3 a..méa €50 HPse: ¥OA a0k
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The de-Broglie wavelength of an electron and the wavelength of a photon are
the same. The ratio between the energy of that photon and the momentum of

‘that electron is :
(C - Velocity of light; h = Planck’s constant)

o8 deg s . %8 8GoK BEpds Sbam k¥ PrerdS Sod BEpEs o3
YL EErSSn. @.“H;.... ﬂﬁ Sou Qe (S8 Sesnsm ST~ 3]

ﬁ'a ~ans

(C—moB i, h-a:ufu ?:‘nﬁu:‘ﬁ:.:}

1 1
(1) h o C 3 - 4 G
e Assertion (A) : Nuclear forces arise from strong Coulombic interactions
between protons and neutrons.
Reason (R) : Nuclear forces are independent of the charge of the
nucleons.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3} (A} is true, but (R) is false

w7 (A) is false, but {R} is true
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120.

A p-n-p transistor is said to be in active region of operation, when :
(1) Both emitter junction and collector junction are forward biased
{2) Both emitter junctiun and colleetor junction are reverse biased
Emitter junction is forward biased and collector junction is reverse biased
(4) Emitter junction is reverse biased and collector junction 15 forward biased
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